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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
End Semester Examination — Winter 2018

Course: B. Tech in Information Technology Sem: HI
Subject Name: Object Oriented Paradigm with C++ Subject Code: BTITC303
Max Marks: 60 Date:05/12/18 Duration: 3 Hr.

Instructions to the Students:
1. All guestions are compulsory.
2. The level question/expected answer as per OBE or the Course Outcome (CO) on
which the question is based is mentioned in front of the question.
3. Use of non-programmable scientific calculators is allowed.
4. Assume suitable data wherever necessary and mention it clearly.

(Level Marks
/CO)

Solve Any Two of the following.

What is an algorithm? What is/are the need(s) of writing algorithm? CO1 6

‘What is class diagram? What are the components of class diagram? Explain

with the help of diagram.

What is reference variable? What is its major use? CO5 6

Write a function using reference variable as argument to swap the values of pair

of integers.

i. Enumerate the rules of naming variables in C++. How do they differ from COs 6

ANSI C rules?

ii. Describe the major parts of C++ program. How does a main function in C++

differ from main () in C?

1dentify error in the following program

#include <iostream.h>

void main()

{

short i=2500, j=3000,

cout>>" i +j=">>-(1 +j);

}

Solve Any Two of the following.
A friend function cannot be used to overload the assignment operater =, COs 6

Explain why? When is a friend function compulsory? Give an example.
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